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212 =244 (ng) 0.36 0.43 0.5 0.3 0.6 0.6 0.5 0.7
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w oA = AAAAFZF £10%, AR BstE(55~65%) ¢ A (7~20%) ¢ A (15~30%)
x 1g% oYX (kcal)& ©r3E 4, @ld 4, x4 9kcal 2 4t

F BF BAe

de=7] H

EEDETE

Q79 Qekere] Fadun),

1,945, 02.9-%, 03.9, 04.9F, 05.01F, 06.4, 07.125°], 08. 4, 09.4%-, 10. :;41417], 11.8<%0}, 12. E0lE | 13.0}
b, 14,85, 15.9a7], 16.4a17], 17.2 101 8.2/ (=, A%, 5 ¥£3), 19.%
A9 315801 /2024.03.26 11:22/10.136. +#x . 165/ 71 El &



St —21 Al | H (=) | al 11 | -||
stngd Alle | AL 2 QFH Al &
s NSstn (54))
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El0t2! (mg) 0.31 0.37 0.9 1.3 0.7 0.8 0.4 1.3
2l2 22ty (ng) 0.36 0.43 0.5 0.7 0.5 0.6 0.4 0.4
HIEF2IC(mg) 24.87 31.72 23.0 26.5 26.0 6.2 31.9 24.3
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Ol A Xl (keal ) 724.33 724.33 5.3 774.5 762.7 915.7 681.5 679.2
Et=312(9g) 57.0 116.9 73.6 141.8 91.7 114.9
CHEH Xl (g) 18.92 18.92 16.2 28.5 34 .1 37.6 33.6 19.5
X (g) 26.7 21.0 37.3 19.9 19.0 15.1
HIEF2IA(48 RAE) 162.05 229.13 197.9 93.0 437.4 57.5 203.5 198.0
EI0F2! (mg) 0.31 0.37 0.6 0.7 0.9 0.5 0.5 0.3
2l 2 Zetel(mg) 0.36 0.43 0.6 0.5 0.9 0.3 0.7 0.3
HIEFRIC(mg) 24.87 31.72 29.1 82.8 15.4 9.6 23.5 14.3
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